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ENGLISH VERSION
1. ‘g8 8T v dl nag 3
(A) HAT Id&PHT  (B) @3T Hdat  (C) WedT ATaT (D) AS® JaT

2. ‘v fao3 faoz fewa feg 881 7 ==t Qu-gwr O
(A) JUETF, ABUT (B) ufensT, gfé3T
(C) mf3na, JaeHYT (D) fedryq, edtede

3. feuwe It fastt famt Jett gas:

(A)Td (B) U C) & (D)AI

4. FH-ITI fafouT fermes g

(A) €9-3% (B) A=, AN
(C) few 3gt, 8w 3gt (D) et =79, T9-T9

5. JU @ WOTg ‘I TAdT gt fIaht famdt Jebit a5

EA)e'Fr (B) & (C)A3 (D)&

Directions( Q.No. 6-8):- Out of the four given options, choose the unded part of the sentence
that has an error :-

6. The grapes you bought yesterday are tasting sour
A B C D
7. Anshuman is having a very sophisticated cellular phone
A B C D
8. No less than fifty miners were killed in the explosion
A B C D
Directions (Q.No. 9-10):- Out of the four given options, choose the correghonym of the words
given below:-
9. Desecration
(A) Sacrilege (B) Construction (C) Desertion (D) Deification
10. Importunate
(A) Persistent (B) Practical (C) Clever (Dglevant
11. Name the Gurudwara which is built where headlbedy of Guru Teg Bahadur was
cremated?
A) Rakab Gani B) Hazur Sahib C) Damadama SahibAm@&andpur Sahib

12. Harike Wetland is located in which districtrainjab?
A) Kapurthala B) Ferozpur C) Amritsar D) Tarar&n
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

What does the name Sikh mean?
A) Teacher B) Learner C) Holy man D) Wonderful

Madan Lal Dhingra went to England in 1906 talgt
A) Engineering B) Law C) Medical D) Journalism

What is Sarpesh?
A) An ornament worn in front of turban B) An ornant worn in arms
C) An ornament worn on saree D) An ornament vesound neck

Dialysis is used when a patient has seriousteowith
A) liver B) kidney C) lung D) heart

Which is the biggest enterprise of the Govemroé India?
A) Postal and Telegraph B) Railway C) Banking Ihjpping

Joint sittings of the two Houses of Parlianmanet held to:
A) elect the President of India

B) elect the Vice-President of India

C) adopt a Constitution amending Bill

D) consider and pass a Bill on which two Houseagliee

In 1930, Mahatma Gandhi broke the symbolic lsalis (after launching the famous Dandi
March). This was also a call for:

A) violent activity B) seizure of English goods

C) civil disobedience D) complete unity amaaggressmen

Which one of the following will be the longeéshnel of India being constructed in J & K?
A) Banihal tunnel B) Rohtang tunnel  C) ChenanifNatunnel D) None of them

Choose the odd one out.
A) Tuberculosis B) Small pox C) Cholera D) Toudh

If ‘cinto baoli ts nzro’ means her village is Sarurpur’, ‘ mhi cinto keepi tsi oind’ means her
first loveis literature’ and ‘oind geit tsi cinto pki’ means literature collection is her hobby’,
which word would mearliterature’?

A) cinto B) baoli C) oind D) geit

D, the son-in-law of B, is the brother-in-lafvPowho is the brother of C. How is A related to
B?
A) Brother B) Son C) Father D) Data inadequate

Pointing to a lady on the platform, Manju sdihe is the sister of the father of my mother’s
son.” Who is the lady to Manju?
A) Mother B) Sister C) Aunt D) Niece

Garima is taller than Sarita but not tallemtfReena. Reena and Tanya are of the same height.

Garima is shorter than Anu. Amongst all the gk is the shortest?
A) Anu B) Reena and Tanya C) Garima D) Sarita
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26.

27.

28.

29.

30.

31.

32.

33.

34.

Rohit is seventeenth from the left end of a o9 boys and Karan is seventeenth from the
right end in the same row. How many boys are thete/een them in the row?
A) 3 B)5 C)6 D) Data inadequate

| am standing at the centre of a circular fiélgo down south to the edge of the field and then
turning left | walk along the boundary of the fieddual to three-eighths of its length. Then |
turn west and go right across to the opposite pminthe boundary. In which direction am |
from the starting point?

A) North-west B) North C) South-west D) West

Read the trend of characters in the followiragrir and find out the missing character.

24 144 | 384
6 36 ?
2 12 32
1 6 16
A) 80 B) 85 C) 91 D) 96

In the following numbers sequence, how many ®wen numbers are there which are exactly
divisible by its immediate preceding number but ee@ctly divisible by its immediate
following number?

384157283489394582

A) One B) Two C) Three D) Four

Replace the question mark(?) in the given serie
1,1,4,8,9, 27,16, ?
A) 32 B) 64 C)81 D) 256

3 2 1
2- +2-+1—=7
4 3 12
169

A) s B)1 z C)— D) None of these

16 4 144
The average temperature of first four days weak is 38.8C and that of the last four days is
40.3C. If the average temperature of the week be°89.Wwhat was the temperature on

Thursday?
A) 36.7C B) 38.6C C) 39.8C D) 41.9C

The age of man 10 years ago was thrice theohbes son. Ten years hence, the man’s age
will be twice that of his son. The ratio of therepent ages is:
A) 13:4 B) 9:2 C)7:3 D) 5:2

A man sold two pipes i¥ 12 each. On one heeda29% and on the other lost 20%. On the
whole, he:
A) neither gained nor lost B) gain¥l 1 C)IXit D) gained¥ 2
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35.

36.

37.

38.

39.

40.

4].

42.

43.

44,

45,

46.

A and B together can complete a piece of work? days, B and C can do it in 20 days and C
and A can do it in 15 days. A, B and C together@amplete it in

A) 6 days B) 9 days C) 10 days H)% days

By walking at% of his usual speed a man reaches his office 2@itesnater than usual. His

usual time is
A) 30 min B) 60 min C) 75 min D) 1 hr 30 min

The difference between the simple interestivederom two sources 0¥ 1500 for 3 years is
¥ 13.50. The difference between their rates of irstese
A) 0.1% B) 0.2% C) 0.3% D) 0.4%

The total cost of flooring a room ¥  8.50 pguae metre is¥ 510. If the length of the
room is 8 m, its breadth is:
A)7.5m B)8.5m C)10.5m D) 12.5m

A watch which gains uniformly is 2 minutes slatvnoon on Monday and is 4 min. 48 sec
fast at 2 p.m. on the following Monday. When wasoitrect?

A) 2 p.m. on Tuesday B) 2 p.m. on Wednesday

C) 3 p.m. on Thursday D) 1 p.m. on Friday

What greatest number will divide 3026 and 5l@a®ing remainders 11 and 13 respectively?
A) 15 B) 30 C) 45 D) 60

If the subject is somewhat dry, taxing andiclitt, the teacher should
A) advise the students to be very serious

B) tell the students about difficult nature of mdb

C) explain subject with pleasing and practicalrepkes

D) persuade students to leave the subject

A good teacher is one

A) who does not allow students to ask questiongewte is teaching
B) who rebukes students for not being attentive

C) who allows relevant questions and explain

D) in whose presence students fear to put question

Which one of the following is not an audio teiag aid?
A) T.V. B) tape-recorder C) radio D) transistor

To evaluate whether his teaching is effective teacher (in mid of his teaching), should
A) honour the students B) expel dull students
C) make discouraging remarks about inattentivelpup D) put relevant questions

The following mean an effective education/téaglexcept
A) a teacher teaches with enthusiasms B) teaatds fault with students
C) puts more emphasis on teaching D) makes dulj@® interesting

By which method students learn to maximum dRten
A) by seeing B) by listening C) by reading B)doing themselves
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47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

A teacher can motivate the students by

A) giving suitable prizes B) giving proper gaitte

C) giving examples D) delivering speech indlass
Written examination should be

A) essay type B) short answer type

C) guess who technique D) balanced combinati@bove three

Which quality of the teacher is liked the mimgthe students?
A) his punctuality B) his impartiality
C) his love for discipline D) his dominance

Why is the use of different methods usefukiching?
A) to make learning easy B) to make learningerioteresting
C) to attract the attention of students D) altheff above

A computer program that translates one programuasbns at a time into machine language
is called a/an
(a) interpreter (b)CPU (c) compiler (d) smulator

Personal computers use a number of chips mounted win circuit board. What is the
common name for such boards?
(a) caughter board (b) motherboard (c) father board (d) breadboard

The CPU is also known as
(a) the Brain (b) processor (c) central Procegkinit  (d) all of the above

Which of the following is used as a primaryrage device?
(a) magnetic tape (b) PROM (c) floppy disk (dya of the above

Windows 98 is a
(a) graphics System (b) operating System (c) drgwystem (d) processing system

As per the BIS code of practice, which of tbkofving information is mandatory for the title
block

(a) the main scale of the drawing (b) the surtagéure of the indication

(c) geometrical tolerances (d) the title of tlawing

Which of the following types of lines are usedhatching?
(a) continuous narrow line (b) long dashed dbttae line
(c) continuous extra wide line (d) dashed wide |

The vertical lettering is done at angle of

(a) 45 (b) 7% (c) 9@ (d) 100

The included angle for the regular pentagon is
(a) 108 (b) 54 (c) 27 (d) none of these
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60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

When two straight lines always maintain a camstistance between them, throughout, then
the lines are

(a) perpendicular to each other (b) parallelacheother

(c) converging (d) diverging

Which of the following curves is a conic senfio
(a) epicycloids (b) spiral (c) helix (d) rectputar hyperbola

--------------- is a curve any point on whichaguidistant from a fixed point and a fixed line
(a) an ellipse (b) a parabola (c) a helix (thyperbola

The included angle between two asymptotesrettangular hyperbola is

(@) 45 (b) 60 (c) 90 (d) 120

Which of the following is a 3D curve?

(a) ellipse (b) parabola (c) helix (d) epicydlo

Which of the following curves has only one fs2u

(a) hyperbola (b) parabola (c) helix (d) circle

In first angle of projection, the view of thject looking from observer’s left hand side liés a
(a) left side of front view (b) right side obfnt view

(c) above front view (d) below front view

In the projection of a straight line, whichtbé following is correct?
(a) true length is larger than projected lengtplan

(b) true length is smaller than projected lengtplan

(c) true length is smaller than projected lengtlelevation

(d) none of the above

In which of the following condition of placenmen square lamina will look square with true
side in plan

(a) 0 with VP and 90 with HP (b) 0 with HP ar@with VP

(c) 45 with both HP and VP (d) 90 with both HRI&/P

Which of the following solids is a regular pogdron?
(a) pentahedron (b) heptahedron (c) icosidoecahnedr (d) icosahedrons

The front auxiliary view is obtained from
(a) top view (b) left side view (c) right sidesw (d) front view

The elevation of a circle surface, which isafiat to VP, when projected in isometric vertical
plane takes the shape of
(a) ellipse (b) circle (c) parabola (d) nondtadse

The elevation of a square when projected imetac vertical plane takes the shape of
(a) square (b) parallelogram (c) rhombus (d)enofnthese
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73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

When a sectional view is drawn at the locatbm sectional plane but revolved at’90is

called?

(a) revolved section (b) longitudinal section tfensverse section (d) none of these

Half sections are best used when the object is
(a) irregular (b) visualized (c) non visualized (d) symmetrical

Which of the following is a removable fastener?
(a) riveted joint (b) welded joint (c) threadedhjo  (d) all of these

What is the maximum permissible thickness efdaver plate for a single cover butt joint for

joining main plates of thickne$3
(@) 0.7t (b) 0.8t ()t (d) 1.125t

A half moon key is commonly known as

(a) parallel sunk key (b) feather sunk key (g sunk key  (d) woodruff key

The tool used or lifting the pattern from theutd is called
(a) trowel (b) slick (c) lifter (d) draw spikes

The mould is generally made up of
(a) cast iron (b) clay (c) sand (d) coppenallo

For heavy jobs, which of the following hamneused for forging operation?
(a) drop forging (b) simple hammer  (c) both (ajl ém) (d) none of these

A hacksaw blade is specified by its

(a) length (b) material (c) width (d) numbéteeth
Lathe bed is made up of

(a) mild steel (b) alloy steel (c) pig iron @hst iron

For mass production, gears are produced by

(a) shaping (b) casting (c) forming (d) milling
The operation of bending a sheet metal alotgaed axis is called

(a) plunging (b) notching (c) slitting (d) fonmg

The oxygen cylinder is usually painted with

(a) black colour (b) white colour (c) maroon calou (d) yellow colour
Carburetor is used for

(a) mixing of petrol with air (b) to supply air

(c) to supply petrol (d) none of the above

Which of the following is a welding tool?
(a) pattern (b) swab (c) torch (d) all of theee

The material of cylinder block is
(a) steel (b) cast iron (c) copper (d) all bbee
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89.  Which of the following is a sheet metal tool?
(a) swab (b) mallet (c) gas (d) all of above

90. Single point cutting tool is used in
(a) grinding (b) shaping (c) turning (d) bo#) &nd (c)

91. The process used to improve properties of nahisr
(a) heat treatment (b) extrusion (c) cold penning (d) spinning

92. The process of making generally nut and bolt is

(@) spinning (b) turning (c) extrusion (d) simap
93. Cores are used for

(a) forming internal cavities in the mould (b)drmve mould surface

(c) form a part of the mould (d) none of thewad

94.  The operation of producing a hole in sheet hit@unch and die is called

(a) shearing (b) punching (c) blanking (d)adlabove
95. In arc welding, arc is produced between wouk @ectrode by

(a) voltage (b) current (c) resistance (dpéthe above
96. In order to cut mild steel, which of the follog tool is used?

(a) mandrel (b) chisel (c) punch (d) nohéhe above

97. A hacksaw blade cuts material during
(a) forward stroke (b) backward stroke (c) bothagad (b) (d) none of the above

98. The type of file used for wood work is
(a) single cut file (b) double cut file (c) rag cile (d) none of above

99. Voltage is measured by
(a) voltmeter (b) ammeter (c) both (a) and (b)d) none of the above

100. Screw driveris a
(&) mechanical tool (b) electrical tool (d&oth (a) and (b) (d) none of above
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Answer - Key
Code-DMMI-2 (DMM Instructor)

m.DDDCAADDDAACABDABABCBACAC
<

slelkielzg a3 |a|8|2 885 |8/8/8/5 823|885 (8/3|S
digojon|0|<g|O|<|0(a|0]0|0|<|0|<|n0|0|<|O|q|O|0O
<

ole|8B3 8858383338388 |B|T|RIRINIRIXIR
MABDBBDDCCCBCABCCCADBDADBD
ILIRIQA IS NSSIESHRNITFIFRITIRET RS
MACBBACAAAAADBAABBDCCBCBCD
old|Nms|w|lo~oaoS T (YIS IL S SSISRITINQIAE
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